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The matching principle; which is related to revenue recognition states, that each cost or expense

related to revenue earned must be recorded in the same accounting period as the revenue it

helped to earn
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The separateentityassunpt i on is that a businesse is an accounting unit

separate from it is owners creditors and managers and their assets this people can all change but
the business continues as before

Theti me peri od assunpti on st at es that the economic life of the business can

be divided into time periods such as the financial year or quarter of it
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